THIOEE REE READALESEADTLr— EFHHER

1. BFSANEEYHZEE - FEEEMo BTSN,

FEA R 1454 | 284 | 34 | 484 |RZEEH] BER
AX (3tEFL) P 77 14 16 12 6 48]  62.34%
BEZFH 201 85 0 5 0 90] 44.78%
EFEFE 112 58 0 2 0 60]  53.57%
EFIEREEE 116 40 3 47 4 94]  81.03%
BTSE 116 24 10 6 4 44]  37.93%
ARl 75 16 6 9 4 35]  46.67%

a5t 697 237 35 81 18 371]  53.23%
¥ PEARITA, PHERTAZIRN I EENDAEEE COEET B,

[ T

. FEHEOEEE
100.00% 81.03%

62.34% 46.67%

o \44.78% 37 93%

50.00% ~— =
53.57%
0.00%
5 5 P A 5 5
%- ?3{0 N "8’0
4 & % oK
N & %

2. R2ITHLT, BHICEWTHI=WLIED, MEDELTHNSIEIZDOVTEMLELZEL,

18 B BIZZES3RS | 2585 T&E F5B0EN [ hhdil
MA)F15LER 25 76 187 40 18
QBZIZDT 20 44 174 85 26
R)FE(ZDINVT 14 37 210 79 6
(DHEZE(ZDNT 21 41 198 74 12
BYZEANDZIRAHIZDUNT 30 104 168 31 14
(B)FRIEEICDUNT 9 66 211 46 12
(NFEEIZDNT 8 18 153 116 48
@)V FEEXZDFBAKRIZDOLT 106 121 93 24 10
(FEEZDEZKRIZDNT 64 99 135 31 13

0 50 100 150 200 250 300 350 400
' i ' ' mHEIZZESES
(A F15LESR — - =
(Q)BIZONT # RS
(3)FE&EIZDOINT —_— &

(A |/FLIZONT

(5)ZFEANDEAH DT
(6)FRIEBNCDOINT

(7)FEIZDINT

(8)ZEEHDFREEIRRIZDLVT
(9)ZEEZDEFIKRRIZDNT

I
I
I
|
I
I
I
I
I
A

4

|
.
(| . -
IH
b !

B 5B bHA0
B HMSEL

1/2R=




3. FEADXEITONT, REDXIEE, EABRAFTERLEBVET M,
HANE, SEREISISHEELTHRLNERDLNSZIEICOVTE RS ELIEELY,

i ] B HIZESBS | 2585 & Z5BbHEL [ HhhSEEL
(R FXZE 25 41 192 62 27
Q)BHIZDOI\TOXIE 13 46 190 47 51
QRMEIC O TOXIE 46 69 161 40 33
Q)FEIZDODL\TOXIE 32 66 178 42 28
0 50 100 150 200 250 300 350
) 1 i |I L 1 1 1 1 u #%':%555
()EFE IR _- | | 2585
)B%zi1z>hvtnxiE (K | | 3
BEtEIc OV TOXE | | | ® F5EbhAN
— ] 4 ~ 1—~
@FEIOVTOXE | ML , ) DDA

4. {REEE (REEAN) DA M BARTRZICAZLI=EFSAZZEITRY, BARTKRZEICECATINS,
HAINE, EIFCATNSERDNET AN ?

i) B BHIZESES | 58S @ F5BRbEL [ HHBEL
(MAZELF=ZERIZDINT 82 182 81 10 4
@D T 60 180 107 8 4
QRSN FEIZEIZDOULNT 81 141 108 14 13
@ORANERIZDONT 78 146 112 14 8

100 200 300 400
| | | mHICZESES
(D) AZELT=ZERIZ DNV T
: | | 2585
)22 DNT
E)E ) 2D\ T = -
IR BMS | B 5B bHA0
@RABRIOLT = 5 RJ—I.'I x PR

6. AETIITH28F4AICHAZIEETLFMERL, BEEH(ICLIMEE- EF LORBEZERHT 51
ODFIBEEFIIBLEL =z, RZDZERRITIEZICONT, CHEMTLIZTLESM?

[ #oTLV: 53% RbH A= 274% |

2/2R—=



